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PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.
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Critically examine the Powers of the Government to refer an industrial dispute
for adjudication.
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Explain about the procedure for registration of a Trade Union? What are the
circumstances in which the Registrar can cancel the registration?
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Explain the procedure for fixing and revising minimum wages under the
Minimum Wages Act, 1948.
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PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
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Define “Workman” under the Industrial Disputes Act, 1947. Examine the tests
evolved by the Courts to determine master and servant relationship.
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How the timely payment of wages had been ensured under the Payment of

~ Wages Act, 1936?
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]O)e(iiine Standmg Orders State the procedure for Cert1ﬁcat1on of Standing
rders.
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PART C— (5 x 4 =20 marks)

| Wr1te short notes on FIVE of the following :
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(a) . Lay off
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. (b) Settlement

(¢) . Collective Bargaining

LU Cugth -

'(d) Wage Board
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(e) Strike
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(g) Protected Workman
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PART D — (2 x 6 12 marks)

Answer TWO of the following by referrmg to relevant provisions of law and
decided cases. Give cogent reasons. .
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An employer declared lay off to his workmen and offered them alternate
employment in his branch office situated at 10 km away from his main factory.
The workers refused to accept the work and clalmed lay off compensation
Decide. '
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10.

Ten workmen of the textile :mﬂl apphed for registration of a newly formed -

Trade Union to the Registrar of the Trade Unions. While the application for- ‘
registration was pending, four of them resigned their Job. The Registrar
permltted registration of the Trade Union. Decide. '
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While working on a machine, a worker accidentally drops a Valuable testmg )
appliance which is broken. The employer deducts the value of the appliance
from the wages of the worker Whether the deduction is justified?
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